3.13 Things you should know

What does P(A) mean?
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What does P(A NB) mean?
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What does P(A/B) mean?
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What is a complementary event?
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What is a mutually exclusive event?
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What are independent events?
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What does P(A’) mean?
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What does P(A u B) mean?
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What does P(A/B’) mean?
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How do we prove mutually exclusiveness?

f(naB) = O
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How do we prove independence?
2 P(pn 6) = P(Px) X P(.@)
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What is the definition of:

a) true probability

( | L\(\wu) PVBL,&;\;-B (f’ N — (Mﬂw,;.,j
Ugwq“ LLn‘(rf’\P‘""\ ]
N,

b) experimental probability
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¢} theoretical probability
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What is a combination and when do we use it? What is a permutation and when do we use it?
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What is a factorial?
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What is risk? How do you calculate risk?
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What is relative risk? How do you calculate relative risk?
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Exercises on Probability Tables

1. P(A)=0.3,P(B)= 0.4 P(ANB) = 0.2

Complete the table and answer the following questions.

(a) " What is the probability that A or B occurs? ?(Px ugy> =0.S
(b)  What is the probability that neither A nor B occurs? @ (AVR) = ©-S

(c) Are A and B independent? (8 xP(A)= 6.3 &
P(pP(f\B ) > = 0.12 # a2 No*’ \Adafg_dvj\*
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(e) Are A and B mutudlly exclusive?
Mo a5 P(AN) =02 wot O

2. P(A)is 0.5, P(B) is 0.3, and A and B are independent events.
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Complete the table and answer the following questions.

(@)  What is the probability that A or B occurs? P(AUBB = 0'ég>
b) Whatis P(B|A)? = PBap) _ DAS
() Whatis PEIAY = —prs = D8 o o2

(c) Are A and B mutually exclusive?
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3. P(A) is 0.4, P(ANB) = 0.2, and A and B are independent events.
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Complete the table and answer the following questions.
(@) What is the probability that A or B occurs? F(A u3> = O F

_(b) What is the probability that neither A nor B occurs? = Z
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4. P(A)=0.2,P(B)=0.7, P(AUB)

Complete the table and answer the following questions.

(6) Are A and B mutually exclusive? N> as ?(ﬁr\3> z 0.0
(b) .WhaT is the probability that neither A nor B occurs? O,
(¢) What is P(A|B)?
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P(AUB)=0.9,P(A)=0.3,P(B)=0.6

Complete the table and answer the following questions.

What is the probability that both of A and B occur? (O

What is the probability that neither A nor B occurs? © - |

Are A and B mutually exclusive? M. << P(Ar\%) =

Are A and B independent events? O.3x0 .6 =048 FO so

P(A)=0.35,P(B)=04,P(A|B)=05 0.5 = ?(::2

Complete the table and answer the following questions.

What is the probability that A or Boccurs? (D S <

What is the probability that neither A nor B occurs? «>. <,

What is P(B| A')? {)((‘fag‘> - %ZS; = ©.3077 (adp)

Are A and B independent?

?(A)Xp(éb -D3Sxo0. 4 = D14

P(AnB) 0.2
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